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8. Jeremy Company has an expected ROE of 20%. The dividend growth rate will be (16)
% if the firm follows a policy of paying 40% of earnings in the form of dividends. The risk-free
rate and the expected market rate of return are 0.01 and 0.11, respectively. According to the
CAPM, the expected rate of return on security Jeremy with a beta of 1.5 is equal to.__ ( 17 )
%. The company will pay a dividend of $4.0 in the upcoming year. The No-growth value per
share is ( 18 ) . The present value of growth opportunities (PVGO) per share is
(19) . ' L

9.Consider the multifactor APT. The risk premiums on the factor 1 and factor 2 portfolios are 4%
and 5%, respectively. The risk-free rate of return is 2%. Stock A has an expected return 0f:220%
and a beta on factor 1 of 1.5. Stock A has a beta on factor 2 of (20) .

10.There are two portfolios: winner portfolio and loser portfolio. If investor wants to execute a
momentum strategy, he (or she) should buy _ (21) portfolio and sell_ (22)  portfolio. If
investor wants to execute a contrarian strategy, he (or she) should buy _ (23) portfolio and
sell_ (24 )  portfolio. The reason why a momentum strategy can work is_ (25 ) : The
reason why a contrarian strategy can work is__ (26) .

11.A convertible bond has a par value of $1,000 and a current market value of $900. The current
price of the issuing firm's stock is $20 and the conversion price IS $25. The bond's conversion

ratiois _ (27) , conversion valueis _ (28) , and conversion premiumis_ (29) .If
the stock price volatility increases, its impact on the price of convertible bondis_ (30) .

12.What is the relationship between the price of a straight bond and the price of a callable bond for

low int_erest rates?_ (31) .

13.Suppose you purchase one(1 3&) ACER(% %) May $43(strike price) call contract at $5(premium)
and write one(l 7%&) ACER(Z £) May $48(strike price) call contract at $2(premium). The

maximum potential profit of your strategy is _ (32) . The maximum potential loss of your
strategy is _ ( 33 ) . The break-even point is _ ( 34 ) . This strategy is called
(35) .
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1.Describe the trade-off theory of leverage.
2.Describe the dividend clientele effect.

3.Describe the put-call parity theorem.
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